=9 PROGRESS
AEUROPE

automotive Innovations bv

E Fitting Instructions: VPS SIDE BAR
D Montageanleitung: VPS SEITENSCHWELLER
NL Montage instructie: VPS SIDE BARS

VW T6.1 2020=>

6559014
6559017

e

45 Min.

All rights reserved to modify the text

177 DS 06-05-2020



Required tools / Bendtigte Werkzeuge /Benodigde werktuigen / Outillage requis

Herramientas necesarias / Utensili necessari / Verktyg somsomkrévs

E Fitting Instructions: ~ VPS SIDE BAR

nnnnnnnnnnnnnnnnnnnnnnnnnnnnn

Parts list / Teileliste / Onderdelenlijst / Liste de pieces
Lista de accesorios /Lista di pezzi / Artikel lista

REPLACE ORIGINAL JACK
ORIGINAL WAGENHEBER AUSTAUSCHEN
ORIGINELE KRIK VERVANGEN

A

10x25 | @4 M4 M4 M4
600mm
@ 53

2X
A
B Front CRear
2X 1X
) o)
M8 15x30 M8 15x40
2X 8x 2X 4x
4 h ) @
M8x20 M8x20 M8x25 M8
4x 8x 4x 2X
M8 M8 M10x30 @10 40x40
2X 4x 4x
M10x30x4 M10 M10

217

DS 06-05-2020




VW T6.1

2020=>|

3/7

DS 06-05-2020




DS 06-05-2020




57

ORIGINAL
JACK

REPLACEMENT
JACK

2x Spacer

DS 06-05-2020



Transporter with upholstery

ORIGINAL
JACK

REPLACEMENT
JACK

Rubber cap 2x Spacer
6/7 DS 06-05-2020




717

Multivan / Caravelle

DS 06-05-2020



	Pagina 1
	Pagina 2
	Pagina 3
	Pagina 4
	Pagina 5
	Pagina 6
	Pagina 7

